< 2\ y 183U 32— AU o sy Adtus ) du il

B slaicdsd —i9 2006/2005

:dj;y\ u-,{}a:j\
b=3+73 a=3-7 ¢ by aoeiis gusudl e
B =16+6\7 3 a* =16-67 of o .1

a

%:5 Of gzt # 2D Gt 2
:;“_5\.‘:3\ ool
B=(2x+3) —(x+1)" 3 A=(x+2)(x=1)-x"—4x—4 : dd> >4 x = B 5 A ci)ladl pe
W st & Bolall 2t 1
x=2 1 Of Cude 131 B o
B=(x+2)(3x+4) 3 A=-3(x+2) &f o .
A+ B dlal foiss st b1 SSS
A=-B: 0l X (G suadt i
(CIE o o)
2 5 sb @ [BC] gt dns3 S
dlize 5171 3 J) [BC] bt dalad 53 .1

CM:%CB &t M ki [BC] s o 2

CB) CM (e 3
- Al
[BC] o ik My s ABC

2
3
4
5

g s D85 S8 0B E s g (AB)ek Cisih oo 0 5 (AM) — 35h
BM BF

BC BA

[

O o (AC) i By (AB) o M ki F i) gyl

BE > BF =4 ; AB=6 05 13 .
I3 [AF] gk Oy W5 (AC) S i peinndiy . O dhs § OWblin (FC) 5 (AM) .
Al CJ

A S a I3 IMC
ooy D ¢ [MC] 5

2
AB*=BExBF : &f gest .3
4
5

_‘*vuir.’rn
Toutes hes mati tous les miveaux...


http://www.devoir.tn/



